logarithm. V , Vo-Daten u) = (\ — 550) / 50,
logV. = (logV ,+ logLo)/2logMV ;= =0,35U)—U: ]|
logVo =logV + 0,03 logLo= —0,35U)\~Us7d

logarithm. V , Vy-Daten u) = (\ — 550) / 50,
logV. = (logV+ logL)/2log MV, = =0,35)—U:. ]|
logVo=logV + 0,03 logLo= —0,35U)\~Us7q

log [Vo, V , Vi, Lo] Adaptation: A, =555 log[MoIV ,LolV, ] Adaptation: A, =555
o 570 570
maximum maximum
1 log(Vm)=-0,03 1 log(Vm)=-0,03
Vmn=0,93 Vim=0,93
Schwelle / Schwelle
-1T =000 [ YT" """ T =TIt =0,
-21-3 -1 1 3 u,
500 600 700__A/nm

540,555,570 BG750-2N
logarithm. L , L,-Daten uy=0\- 550)/50
logL =(log +log )/2log =-0,35u)\-u ]
logL, =logL + 0,08 log =-0,35u,-u ]
log[ < /L, /L ] Adaptation: A =570

,Lo-Daten
logL = (logGo+log )/2 logG,=-0,35L)\—u ]
logLo =logL + 0,08 log =-0,35L)-u ]
log [Lo, L, Go, Adaptation: Ac =570

e maximum maximum
1 log(L m)=-0,08 log(L m)=—0,08

Lm=0,81 Lm=0,81

Schwelle Schwelle

-1T =000 [ YT""""""°""°"°"°"°"°~°"=°=°-°°% t2=0,00

-21-3 =il 1 3 Uy 3 uy
600 700_2/nm ( 600 700 A/nm

BG750-4N
-Daten uy = (A — 550) / 50 ithm. ©, - -Daten uy = (A —550) / 50
log . = (log  +logMg)/2log = = —0,35\-u ] =(log  +logMg)/2log = -0,35\-u ]
log -, =log + 0,35 logMo = —0,35[)—Us7q | =log +0,35 logMo = —0,35)—Us7q |

log[, =, ,Mo] Adaptation: A =520 /=, Mo/, ] Adaptation: A y=520
o 570 1 570/
7 maximum maximum
1 log(' m)=-0,35 1 log( m)=—0,35

m=0,44 m=0,44
Schwelle Schwelle

~1T £,=0,00 1,=0,00

—-21-3 =il

BG750-5N BG750-6N

-Daten uy = (A — 550) / 5(% ithm. ,  -Daten uy = (A —550) / 5(%
log =(log +log )2log =-0,35u\-u ] =(log +log )2log =-0,35u\-u ] )
log =log +0,08 log -0,35u\-u ] =log +0,08 log =-0,35u\—u

log [ =10 =5 =0, Adaptation:)\ =470 " Ba Go Ba Adaptation: A =470

e maximum maximum
4 log(' m)=-0,08 1 log(' m)=—0,08
m=0,81 m=0,81
Schwelle Schwelle
-1+ 120,00 (0; 4 t5=0,00
-21-3 =il 3 uy 3 uy
400 500 700A/nm 600 700A/nm

445,470,495 BG750-7N 445,470,495 BG750-8N

BG750-7R, 1



